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01/ MCO test (Answer tlu' ollowing

."L&{ 9() \,./L)\) \,\,M\ ¥ -\ 2 Ve el ) W\ \’f
Tlf the relation between the amgaynt of splute a
\

‘Marks 50 %)

ttonal then the rtght equation is?

Answer: a) Il a VP aV d) Il a [B]
| S| D (Dul 23N\ P e Bl = \(
2: If the deposmon is dominated, then one of the followm will be trug.

Answer: @) AvgpH = +ve b) AvapH = -ve

I g A u\f ..‘)S(’\Q/\S\ }P/\>>531’/‘
3: How many phases are there wa of variants is one and the number of components is one?

d) AsupH = -ve

Answer: a) zero €2 d) 3
¢1)>l‘.h)\4;‘_\ \_s“/— \\: \‘\ ‘Z-.\lv\:;ﬁ ‘}j' b“
4: Which One of the foIIowmg form las represents the right equatton of positive deviation from Raoult’s law?
Answer: a) P4 # XAPA ¢) Pi> yaP4 d) Py <y4P’4
:"\/'\ >) A""i)\ﬁ_‘ e LR gt ‘ ) (. /"‘\i q’ /« P <-—‘;~av\'3\ ‘
5: Addition of { gni-volatile solute to the pure solvent causes a change in?
Answer: @ g b) AmieS ¢) AmixV d) all of these

A';‘>:,f‘ _,'_‘\;fr” i fs Lo ~(; Z2hE, ] gk \\»SQ@\,C
6: How many p and F of CO; when tt is posmoned at the bo

Answer: a@)p=2& F=1  b)p=3&F=0 Wﬁ dp=2& F=2

¢ N l l,.‘
: L/ el 5 Y1) g
e are forme}\fiom?

7: Liquid wa ¢
Answer: €)1 O b2C d4C
s 0 55wl )L\J‘fr*’\sf’y\x\cfo)-/”’. ot "4”‘“‘5‘—-\:
8: Wth the two-component system (Pb & Ag g part of the solid phase consists of?
Answer: a) pb + Ag @W ¢) Ag + solution d) Pb + eutectic
G ;\(, ~ ')'-/'_"\3 A vy J)‘-J\X\.’)jf‘_é o\ | J*!\' Vit 23\ V= ' 5 ¢ LVV\“ V\%z\“
9: If you add a non- qr so ute to a non-polar solvent, then the expected type of mixture will be - - - - - Iaw
Answer { a) y/an ’t H b) Raoult’s ¢) —ve form Raoult’s d) + ve form Raoult’s
P\\‘Uk) = L EOND whsad "v"\;\"a\' U‘:)/\\V:‘\—,/A;X'—*\-\\S‘~
10: Ifitis requtred fo calculate the Y4, then one of the following laws will be applicable?
Answer: a) Raoult @m* ¢) Dalton d) Van’t Hoff
SEE T AR VY
[i%), The VP of pure benzene l§__j_ g'an at 20 °C, and \VP of pure toluene is 25 mmHg at 20 °C. The
‘N S - S\ oy "(“f‘ :

mole fractlon of each pure component IQO 5. What is the partlal VPgefeach component after mixing?

) 4
B ) -

o Lk e (G ebinp I\
m Using the diagram below and the appropriate phase rule, fill in all the blanks and determine the
composition of the all-eutectic mixture, all equilibria, all reversible and irreversible processes, and

the name of the regions located to the right and left of points C, E & AB? (Marks 25%)

Thus 13-03-2025 With my best wishes Dr Abduljabbar I. R. Rushdi
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Thus 13-03-2025 With my best wishes Dr Abduljabbar I. R. Rushdi



